E5F Excl ERFEERHNE

ARFENG TR R B 5 W 22 L B E AR & B TR 5 22 AR R S BOR
R TE G PAE LA USRI R ) . AT LA WA KL R SORHALMBGH B AN E
FER VLB B R E DA AR SO ER LB R Oy F R B S R TS
o7 W 28 24 e A 44 18 1) BAR AR 8 B AR I FH T ML TR R M4 il . A4S 3 DL Excel
2010 BRAFAE R i 47T BREE . i 20 28 IS A 7 ROECHE 22 O ol g 2 A0 T A LA 0K
AR RE 45 1A 4, RIRS A 7€ Excel 2007 58 N iz 47, A FBRIN W 2F AR Excel FEA
PR LR .

5.1 Excel EHESE T HRLA

Excel bR BOR — S8 B E S 23 20 1 — LEFR o 2 K0 4 2 K500 42 4 MUY i 245 4
PEATIS . Excel pRECA W55 pR 8L K007 R B A PR R B G 3T R BOSE 2 P YL n] LA
TR [RG5S B () i, AR AR Excel # HGE TR B0 4% 20 D aE S kL 85
V] 3 LA R G 3 M b B

A UL Aifp DR ) F (). ) P 8 T R IO B0 DX AT T B R R B /ML SR A
SRV 27 THBCRIHE 24 5 B3 1E 5 0 G0 0 ek RO 0 5 s {22 A L SCAS R 0 (L A9 801X
BEFTSRAN SRAF 8 T RORHE RS 5 2547 A PR SR AN T BORISR P 3 5 BEAT 22 25 A SRR T HECR
SRAPH s AT BUEHE S o L HESS 5 A 4R R 0 B A9 f R B L e /IME s BEAT R A TAE R
B g i 3

5.1.1 EHSITEE

Excel Gt R ERE W 15 GE iR AR(E A fie RAE  Fie/IMEL P B AEL A 580 o o4 i 22 55
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13 | AVERAGEIF B TR
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B2 =MAXH T4 88 5% 1Q2: Q40)
C2 = MINC5F T 24850 1Q2: Q40)
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B e B TRCRR 1] S B

(2) TE“Fy A B TR T 1 He Pk Bl g v A A i AR R b L BB A AR T 89 58 L 5 T HOR

ISP g8
(3) TR By A8 AR T T HE P e A 5 B AR R B R AR T8 L 2 LT
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PR ITHE AR
B2 =COUNTIFS(i T2EHEHE DD, A2, i TAFEHEHHEIC.C,"HE"
C2 =COUNTIFS(H T 244 B 88 DD, A2, Bl T 24 B AR 1C.C."& ™)
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#IC.C,"Z ")
G2 =E2+F2,1n TR 2 G4 HI0HE
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Excel 5-1-5 - Microsoft Excel

mEmE A ¥E O OER S

=SUNFRODUCT ((F T2 FHEXIR! ID32:
§D$d0=A2) + (A T £ FHHERIE  3EF2: 305400

—s|=sn|
a7d | 21z |
296 253 46
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| 8BE | @89 965 | 3360 [

PR 56 pi il B AR 0D 4 2 OO A A

3) ZML

FECRT A B I TR B G R R TAE R T Lk 5T R a2,

4) LA i

SUMPRODUCT o8 $I AT L T3 55 541X R 76 3 B2 A s vl U T 2 4 3150
SRR, B R % S AE i 00 BN 4R A B0 T LR SCAR Y I A R Y 0 A A
Excel HEUAIH — A5 AL A 450, — 2 B0 vT LU AT 5080 . 4R B A R — A B
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< 171 -



£57 "HREEBIIEIESITHER THERRELHAR

BATT A 7S X

- =SUMPRODUCT((f T.&FREHIEI$DS2. $DS40=A2) » (R T &FHE
HIEISES2: $G$ 400

o =SUMPRODUCT(( £ T.2&4FRERHIEI$DS2. $DS40=A2) » (i T EF4&
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